2022 HAARSZF7IFaA7INIT7—XEFIEMRABER(BEAR)

BfER [5H18H (JK)
BEI—R [N\—FEZ—E/)LXTILIHIS5T MFAKRE) .~ 6,184Yards-Par72
HiZ A% (1504
JE{Z K4 FEHIFI—X ouT IN GROSS
1 IEH —% BHAY-N 34 32 66
2 T ER BEHAY-M 30 37 67
3T EE X =E15Y-Utl 36 36 72
3T BEO B L£H0H 36 36 72
3T LEF %53 REFID Fx 34 38 72
6T X IE& IEE 38 35 73
6T #FEC BHHAY-M 39 34 73
8T X =2 EENIOY S 33 41 74
8T HE Ei E1a1N731-2 36 38 74
8T R X N—F=— 34 40 74
8T Efz =Eq £2H00 35 39 74
8T B®E &% IEE 37 37 74
8T HE Ih =13 73-2 36 38 74
8T ER T =13 073-2 36 38 74
15T BX = N—E=— 38 37 75
15T RHE H— BHAV-M 38 37 75
15T D Ha L£H00 37 38 75
15T Wi B8 N—E=— 37 38 75
15T INKIERE JII#8 36 39 75
15T =8 M— FEELHIY 36 39 75
21T FE = T£E 38 38 76
21T Bt A =E15Y-Utl 36 40 76
21T FEE_BA FELHOY 36 40 76
21T EH £& RBFID Fx 38 38 76
21T A¥ EH= TEE 37 39 76
21T R F0E £H0H 37 39 76
21T EEH EW JGMFE= 37 39 76
21T INE E A L£H00 37 39 76
21T [~ T£E 40 36 76
21T INE 2R =E15Y-vtl 36 40 76
21T 2N ER RBFID Fx 39 37 76
21T ElES RBF1 D 7% 36 40 76
21T kg BB N—F=— 40 36 76
21T FE BXR JI[#% 37 39 76
35T EE #H— =E15Y-vtl 36 41 77
35T mE B HEZ 38 39 77
35T mA EE JGMFH = 39 38 77
35T NHE #% N—E=— 38 39 77
35T HE B JI1#% 37 40 77
35T 2l — LHroH 38 39 77
35T wHE A E+a373-2 38 39 77
35T B 7= FEELHIY 37 40 77
35T EiEHE oEZ 39 38 77
44T FHKk E REFID Fx 37 41 78
44T B rE TEE 36 42 78
447 hf B =E15Y-Utl 41 37 78
44T g B N—F=— 40 38 78
44T FH E£EE T£E 34 44 78
44T i O N 3| JI1#% 39 39 78
44T W A FELHAOY 40 38 78
51T £F B A D % 37 42 79
51T HiE H£8 N—F=— 38 41 79
51T B X REFID Fx 41 38 79
51T Eil 2 JI1#% 38 41 79
51T ¥ pE M 34 45 79

1/3R=Y




51T RE FE FELHOY 39 40 79
51T =2 18 FELHOY 39 40 79
51T EEEL JGMFEEE 41 38 79
51T BR _FH N—F=— 39 40 79
51T B B8 N—E=— 36 43 79
61T HLE EA EENY S 39 41 80
61T EXR EE =E15Y-Utl 40 40 80
61T ZH g LH0H 39 41 80
61T INFl BESR TEE 41 39 80
61T B5H IEfT =+ W73-2 39 41 80
61T W Fik =E15Y-Ubl 40 40 80
61T KiE WFX ZENOY S 39 41 80
68T ik KH ZENIOY S 39 42 81
68T =H LA EENIOY S 42 39 81
68T TR IEH EENOY S 41 40 81
68T IMR B8 =+ W73-2 40 41 81
68T MHE —X £2H00 43 38 81
68T FIR B3R N—FE_— 36 45 81
68T XAR £ IEE 40 41 81
68T EH —IF JGMFEEE 42 39 81
68T Bk = FELHOY 40 41 81
77T INI HE oEZ 44 38 82
77T MO = HEAY-M 39 43 82
77T He 8k L£H00 41 41 82
77T Zh 7 RBFID Fx 40 42 82
77T HKE A JGMFE= 43 39 82
77T X0 =i TEE 42 40 82
77T EESERCE N—F_— 41 41 82
84T EhH ER RBF1 D F% 45 38 83
84T e FELHIY 41 42 83
84T HEH E= FELHOY 40 43 83
84T $RAR HEah TEE 44 39 83
84T =i 8k L£H00 40 43 83
84T il fiEE £H0H 41 42 83
84T AR Eih L£H00 43 40 83
AiT XE IEfE FELHIY 39 45 84
1T ¥ F@ =13 W73-2 42 42 84
AT EBH BEZ EX7)-vEl 45 39 84
AT EH BE RBFID Fx 44 40 84
AT WX FEz EX7)-vEl 39 45 84
AT WE BA BEE 38 46 84
91T INREFD EX7)-vEl 41 43 84
AT B O ZnfE BEE 39 45 84
AT MHE B2z BEE 43 41 84
AT ZiR BT JI1#% 41 43 84
91T ZFHE EE T 40 44 84
AT EH EzZ T 42 42 84
9T Rtk T REFID Fx 38 46 84
1T HLE EX JL=RYyy 43 41 84
9T B Rt FELHOY 40 44 84
9T EH & JI1#% 39 45 84
AT HIIl %E& EXIN71-2 42 42 84
108T BH S JI1#% 47 38 85
108T gK ZB& oEZ 47 38 85
108T KE BE L£H0H 41 44 85
108T #]BAR Bh2Z L£H0H 44 41 85
108T hE f#— E+a373-2 39 46 85
113T HE —= HEZ 38 48 86
113T B[ BERs BEHAY-M 41 45 86
113T ¥ H— N—F=— 40 46 86
113T il HE E+a373-2 40 46 86
113T HMa Bk FELHAOY 41 45 86

2/3R—=2




118T 2l HR1E LH0H 43 44 87
118T AK fEARER EENY S 43 44 87
118T EGlE LH0H 46 41 87
118T 1% B FELHOY 46 41 87
118T oE H#x JII#% 39 48 87
118T ® E— N—E=— 45 42 87
124T EF IFE LH0H 47 41 88
124T ERKR = TEE 37 51 88
124T A EE JII#% 43 45 88
124T =25 IR TEE 42 46 88
128T ®RiE = ZENOY S 44 45 89
128T XE —%& FELHOY 38 51 89
128T KEF i £2H00 41 48 89
128T Ik ¥ EENIOY S 42 47 89
128T B X T£E 45 44 89
128T BE 2 FELHOY 48 41 89
128T Z IEA ZENOY S 46 43 89
135T #ZA IEAH REFID Fx 43 47 90
135T T hk TEE 46 44 90
135T PEE #hth FELHOY 44 46 90
138T EH = RBFID Fx 47 44 91
138T Al E— FEELEHIY 44 47 91
138T WO #RKER J1 8 41 50 91
138T FalE & oEE 52 39 91
138T A FN FEELEHIY 48 43 91
138T 8 ks N—F=— 42 49 91
144 Al {EsE B D 7% 44 48 92
145 #E6E FIFD J11 8 45 50 95
146 T ShEE =13 73-2 45 51 96
147 sht Flz LHOH 44 60 104
ZiE B E2 FELAHOY - — -
ZiE A HIE JL=2AYyY — - -
ZiE AL Fo8I T£E — - -
Ri5 EA BH# J1 8 — — -

3/3R—=T




